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Bonus 2 Undisclosed 5 Marks 10

_ 20950 - $9 6D Z',__ ma=tma= Ah
2™ AA._ de =9
=28 _ dC _ AD _rpAB-C(c)ED
A ax & o ) S

P e Whiheh Leibniz
m/ Sy == 3
(I .x) =% (L L =] xl+< j;;n% J-'x =— CosR st <

-f 'y Aox f( b) =5 )

CoJ cu\us “

—_AC _ ADL ugTEAR- TP

P. By AT

b G FA A e = ;
x+"_= AR _anc 4"*" ox X+— - —sac "‘_“"“‘ CJX _‘_L’\ ‘%C‘?ﬁ‘?‘h') )

j-chal-l- =foo mEX = o2 + Asin (OO
S //;hv ond V=-k —f\""ﬂshbﬂ‘l—)
i o1 y— o)
AU Zlilly Budsib oSV Sles as

Jalshobaki.com sl e 13158] A Juadl) asiial) 12 ciuall clialy; 2022/2023 A5 Juail) dlgs latal g gal




Page |2

2022/2023 A aul al Juail) Ayl Glatal 73 gal

Jigd alaill il
1+11 Blana Ad)al da ad) alas Y e (3-6) P258

(Ll A i Aal) adall) Jia) Ald) Jaill £ gy 1B jaa addiiaad g A ad) Aac ) JS aa ol Atul ALLY) 8
Qw_ud\dw‘ig\mcgﬂaw‘gtmwhewdmcﬂt aaad) Ja aaadl
Find all critical numbers by hand. Use your knowledge of the type of graph (e.g., parabola or cubic) to
determine whether the critical number represents a local maximum, local minimum or neither?

3) 4) f(x)=x*+5x—1

B) f(x)=—-x*+4x+2

4) A f(x)=x>-3x+1

B) f(x) =—x3+6x%*+2

5) A) f(x)=x3—-3x%+6x

B) f(x)=—-x3+3x*-3x
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6) A) f(x)=x*-2x*+1

B) f(x)=x*—-3x3+2

g platl) gl
24+3 Uana Allal da al) slac ¥ e (7-22) P258
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Find all critical numbers by hand. If available, use graphing technology to determine whether the critical
number represents a local maximum, local minimum or neither?

7) f(x) =x*—3x3 +2

8) f(x)=x*+6x*-2

9) f(x) = x% - 4x%
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10) f(x)::(xé_.gx%)

11) f(x) =sinxcosx , [0,2m]

12) f(x) = V3 sinx + cosx

x2 -2

x+2

13) f(x) =
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x2—x+4

14) f)=——7—

1
15) f(x) = 2 (e*+e™)

16). . f(x) = xe ?*

4 1
17) f(x) =x3+4x3 +4x

18) f(x) = x% - 28x%
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19) f(x) =2xVx+1

20 f®= oy

21) f(x) = [x2—1]

22) f(x) = Va3 — 3x2
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Find all critical numbers and use the Second Derivative Test to determine all local extrema?

9) f(x)=x*+4x3 -1

10) f(x) =x*+4x?+1

11) f(x) = xe’*

12) f(x) = e x
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13) fl) =2
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In exercises 1-21, graph the function and completely discuss the graph as in example 6.2

1) f(x)=x3—3x% + 3x jmmmm———————————————
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10) f(x) = 22 i i
x“+1 I I
| I
| |
| I
| — 1
| I
| |
| I
| |
| I
: :
I—1EI =5 5 'EI
L E I

Jalshobaki.com Sl daay zalae) ALY Juadl) asiiall 12 ciall cilualy; 2022/2023 A8l Juadll 4l Cladia) £ gad




Page |12

11) f(x) = x + sinx

12) f(x) = sinx — cosx
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14) f(x) = x Inx? ! i !
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15) f(x)=vx*+1 -

16) f(x) =vV2x—-1
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17) f(x) = 3';/x3 —3x% + 2x

18) f(x) = yx3 —3x% +2x o= mmm e
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(5-29) P329

Find the general antiderivative?

5)f(3x*~3x) dx

6) [(x3-2) dx
7 [(3vx-3) dx

8) f(Zx‘2+%) dx

1
x3-3

dx

9 J

2z
x3

x+2x%

10) [ dx

S
x4

11) [(2sinx + cosx) dx

12) [(3cosx —sinx) dx

13) [2secxtanx dx

4

1—x2

14) [ dx

SAglay) ANl 2 AN (el

Jalshobaki.com (sl daas talae] G Juaill asiial) 12 cisal) cluialy; 2022/2023 (Al Juall) 4lgs ¢lada) g3 gad
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15) [5sec’x dx

16) f4- cosx

sinZx

17) [(3e*—2) dx

18) [(4x—2e€*) dx

19) f (3cosx—1) dx

X

20) [(2x7!+ sinx) dx

21) [—— dx

x2+4

22) [—— dx

4x2+4

2 3) f Cosx dx

sinx

Jalshobaki.com (S sall daan 131s8) ) el adiiall 12 cisal) cipdaly; 2022/2023 (A Suadl Al chaia) 73 gad
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24) [(2cosx —Ve?*) dx

—/

25) [—— dx

e*+3

26) [Z2 ax

eXx

27) fx% (x% — 4) dx

28) [x3 (x_§ — 3) dx

Find the derivative? fAidal) 3y (29 (el A

29) 4 In|secx + tanx|
dx
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Evaluate the integral by computing the limit of Riemann sums?

9) f012x dx

10) [2x dx

11) fozxz dx

Jalshobaki.com (sl daas talae] G Juaill asiial) 12 cisal) cluialy; 2022/2023 (Al Juall) 4lgs ¢lada) g3 gad
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12) [J(2+1) dx

13) [P(?-3) dx

14) [(x*-1) dx

JSagd O A dadial) B (1) Jligmd) gea ada a5 (11) sl 1482
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Find the absolute extrema of the given function on each indicated interval?

26) f(x)=x*—8x*+2 (a3 A) [-3,1] ) B) [-1,3]

2
3

27) () =x3 A B A) [-4,-2] , B) [<1,3]

Jalshobaki.com Sl daay zalae) ALY Juadl) asiiall 12 ciall cilualy; 2022/2023 A8l Juadll 4l Cladia) £ gad




Page | 22

28) f(x) = sinx + cosx  OEA A A) [0,2m] ) B) [E )

29) f(x)=e ™ oIS A) [0,2] ,  B) [-3,2]

30) f(x) =x%e™™ and A A)'[+2,0] ; B) -[0,4]

Jalshobaki.com Sl daay zalae) ALY Juadl) asiiall 12 ciall cilualy; 2022/2023 A8l Juadll 4l Cladia) £ gad
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3x?
x—3

31) f(x) = Gl A A) [-2,2] : B) [2,8]

32) f(x) =tan1(x?)  ofAd B A) [0,1] ) B) [-3,4]

Jalshobaki.com Sl daay zalae) ALY Juadl) asiiall 12 ciall cilualy; 2022/2023 A8l Juadll 4l Cladia) £ gad
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slaad) aleil) 23U (38 g3 Al g
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$0laal) (5 guall) Al aray Baad B

Find (by hand) the intervals where the function is increasing and decreasing.
Use this information to determine all local extrema?

1) y=x3—-3x+2

2) y=x3+2x2+1

3) y=x*-8x2+1

4) y=x3-3x2-9x+1

5) y = (x+1)3

Jalshobaki.com (sl daas talae] G Juaill asiial) 12 cisal) cluialy; 2022/2023 (Al Juall) 4lgs ¢lada) g3 gad
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1
6) y=(x—1)3

7) y = sinx + cosx

8)1y.=sin’x

9) y=e"

10) y=In(x?-1)

Jalshobaki.com Sl daay zalae) ALY Juadl) asiiall 12 ciall cilualy; 2022/2023 A8l Juadll 4l Cladia) £ gad
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Determine the intervals where the graph of the given function is concave up and concave Seillan ) ol ada g
down; and identify inflection points?

1) f(x)=x3-3x>+4x-1

2) fx)=x*—6x>+2x+3

3 _ 1
) f(x)—x+;

4) fx)=x+3(1—-x)"3

Jalshobaki.com Sl daay zalae) ALY Juadl) asiiall 12 ciall cilualy; 2022/2023 A8l Juadll 4l Cladia) £ gad
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5) f(x) = sinx — cosx

6) f(x)=tan"1(x?)

4 1
7) f(x) =x3 +4x3

8) f(x)=xe™**

Jalshobaki.com Sl daay zalae) ALY Juadl) asiiall 12 ciall cilualy; 2022/2023 A8l Juadll 4l Cladia) £ gad
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Sl x; ol SR () Ax Al g sasal cual ((19-22) ol b

Compute sums of the form )./, f(x;) Ax for the given values of x; ?

19) f(x)=x*+4x , x=02,04,06, 08,10 ,Ax=02 , n=5
20) f(x)=3x+5 , x=0.4,-08 ;12 ;16,20 ; Ax=04 , n=5
21) f(x)=4x2-2 , x=21,22,23,24, ... , 3.0, Ax=0.1 , n=10
22) f(xX)=x3+4 ,x=2.05 ,2.15 ,2.25 , 2.35, ... ,2.95 ,  Ax=0.1,n=10
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Use the given function values to estimate the area under the curve using left-endpoint and right-endpoint evaluation?

35) | « oolo1lo2]o3|oafos5 060708
f) |20 2426|2726 24201406

36) | x 00 |02|04| 06|08 |10]|12]|14] 16
j{x) 20122 1.6 1.4 | 1.6 201 22| 24 2.0

37) | x 1of11 121314151617 ] 1.8

Jalshobaki.com Sl daay zalae) ALY Juadl) asiiall 12 ciall cilualy; 2022/2023 A8l Juadll 4l Cladia) £ gad




Page | 30

38) | « 1012|1416 |18 |20 (22|24 26
f) oo |04 |06 08]12]14]12]14]10

yod g T -
17 3 ganall JalSill 2 ggda o i il (15-20) P356

eSS aan mIU gl JalSi B ) gua (A Blaral) dalival) Jaga IS
Write the given (total) area as an integral or sum of integrals?

y=4—x% caliy x 9l G daluall 15

y=4x —x? <oy x sl §5b dalual) 16

y=x% —4 Gy x ssaall calidalual) 17

a2 —4x Gsy x ssaad caddalal) 18

<
I
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0<x<m — x.»dy y=sinx ol 19

N[ ]

5"5% — x oy y = sinx ox dalwal) 20

18 Jalsil) b Ao gial) dal) Ay la3 Gk (29-34) P356

SJalsily dagd a8l Jalsil) 8 ddan giall dagdl) 4y a5 aadin
Use the Integral Mean Value Theorem to estimate the value of the integral?

29) [Z3cosx® dx
3

1
30) fge‘xz dx

Jalshobaki.com Sl daay zalae) ALY Juadl) asiiall 12 ciall cilualy; 2022/2023 A8l Juadll 4l Cladia) £ gad
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31) [jV2xZ+1 dx

1 3
32) f_lm dx

Sl (B ddau giall dall) 4y ylai Al (38 LAY ¢ Aadd da
Find a value of ¢ that satisfies the conclusion of the Integral Mean Value Theorem?

33) [, 3x% dx(=8)

34) f_ll(x2 —2x) dx (= g)

Jalshobaki.com Sl daay zalae) ALY Juadl) asiiall 12 ciall cilualy; 2022/2023 A8l Juadll 4l Cladia) £ gad
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Jsuad

19

e s
3gaall Jalsil) pallad o G pil) (37-38) P356

A, [Pg) dr=-2 s [[f(x) dx=3 {ilah 38537 cuiad b

Assume that f13 f(x) dx=3 and f13 g(x) dx ==2,,find;

3
37) 4) fl F) + 9] dx

3
B) fl 2f ()= g()] dx

3
38) 4) fl F) - g)] dx

3
B) fl [4g(x) - 3f(x)] dx

Il

20

alal) il
Ay 4 sila Jga o Lk g Jalsill g Jualdill oY) daaledd) 4 3 Jo i3l | (5-18) P366
54 gdaa Cdlals

484y Jal<i IS Giluad dpala) 4 B30 cra Ja¥) ¢ 5ad) addial

Use Part I of the Fundamental Theorem to compute each integral exactly?

5) ff(xﬁ+%) dx

Jalshobaki.com (sl daas talae] G Juaill asiial) 12 cisal) cluialy; 2022/2023 (Al Juall) 4lgs ¢lada) g3 gad
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7) f01(6e‘3x+4) dx

8) [7(T5T) ax

9) [r(2sinx — cosx) . dx
2

10) [Z3cscxcotx dx
4

11) [fsect tant dt

Jalshobaki.com Sl daay zalae) ALY Juadl) asiiall 12 ciall cilualy; 2022/2023 A8l Juadll 4l Cladia) £ gad
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12) [fsec’t dt

13) |2

14) [L 5 dx

15) [ =2 ae

16) [y t(t—2) dt

17) f; (ef) dx

18) f;(sin2x+coszx) dx
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Jiged alacl) i

21 Bl Ay (day gailly JalSil) A8y jha aladial

(5-14) P376

Evaluate the indicated integral?

5 fadvxt+3  dx

6) [V1+10x dx

sinx
7) f Vcosx dx

8) [sin3x cosx dx

9) [t’cost® dt
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3
10) [sint(cost+3): dt

11) [xe”*1 dx

12) [e*Ve*+4 dx

evx

1@,ﬁﬂﬁ dx

x2
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Jgd A g I
22 Bl alagy (sl gailly Jalsil) A5 aladiu) (17-26) P376

Evaluate the indicated integral? fagaaal) & Jalkil) dad aa

1

v

18) [~ dv

4
19) fx(lnx+1)2 dx

20) [tan2x dx

21) f% dx
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22) [x%sec’x® dx

X

23) A) [ dx
x3

23) B) [7— dx
x2

24) A), [T 0dx
x5

24) B) [ dx
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1+x
1+x2

dx

25) 4) [

1+x

25) B) [z dx

3vVx

26) A) [ ax
26) B) [ dx
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Jigad el il
23 ) ) Sy s gl ] e Ll dpely ) Jlass o (1-7) P296

ddalaall dabual) Aldaices Allatal ol ) cuilad) JS 3 ¢ pgil) (o aniicual) andll ) ga il g2 A (pa gl £l iy 1
fdalual) odgd JEU zluadl dayl g Jusall 5 jhual) Lol 22451 1800 2 s sl
A three-sided fence is to be built next to a straight section of river, which forms the fourth side of a rectangular

region. The enclosed area is to equal 1800 ft? .Find the minimum perimeter and the dimensions of the
corresponding enclosure?

o B N

96 ft Ay Al dihial adl ) cuilad) JSy &) « gl (o puiienall anadll ) gay il g2 D (e glaw sl G2y 2
fdalocad) odgd LA 7zluad) Masl 5 7 lsadly Adalaal) Aalivall palinl) 4al) aa gf 7 laadd) (1
A three-sided fence is to be built next to a straight section of river, which forms the fourth side of a rectangular

region. There is 96 feet of fencing available. Find the maximum enclosed area and the dimensions of the
corresponding enclosure?
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Elaadl (0 120 fit dla Qs 13 G glade Gaiidaia Cpbidiion Juba) bbadia (8o 0 slia (e (980 Jibad) sl .3

Sz bmadly Anlaal) dalucal) ) Jabacd) Ldsanan (A1) Sla¥) A Lad ¢ gia

A two-pen corral is to be built. The outline of the corral forms two identical adjoining rectangles. If there is 120
ft of fencing available, what dimensions of the corral will maximize the enclosed area?

i : ; E' - I |:. !
: ¥
T Ty
l'— :.j..- f w 'I_
e

Omilal) (B 6 fit b cilaidy il g DG A o)) jas A Albiins aludY) dmia jaliay gl Ala 0S5 O e 4
A Al A L 800 (fE)? Laal Alla duda )i dalwa (1585 o) i L Adal Jlaad) (3 10 fE Qb Aadd g cplilinal)
fasiiuall Jlaall b jiual ¢3S0

A showroom for a department store is to be rectangular with walls on three sides, 6-ft door openings on the two

facing sides and.a 10-ft:door:opening on the remaining wall. The showroom:is to have 800(fit)* of floor space.
What dimensions will minimize the length of wall used?

T |

xr Bm Bm

10

L s
— "
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flaild gipe P A dad s abind) dalical) (o Jubaienad) & (5 L5
Show that the rectangle of maximum area for a given perimeter P is always a square?

fladla i je 4 ALl dad dialua g jiay) Jaaal) (53 Jkaiwad) & (0 .6
Show that the rectangle of minimum perimeter for a given area A is always a square?

udds. (6 X 10) inch “ialus 38l G 9l ez o 3L AoV e 7 sike (G 9aia sl iy 7

A @sial) aaal calial) Aol 383 Al x dad aa gl il gl g daglS IS 0 (x) in
- X [ A box with no top is to be built by‘taking a (6~ x“10) inch sheet of
6

cardboard, cutting (x) in squares out of each corner and folding up
X  the sides. Find the value of x that maximizes the volume of the box?

™ |'|'i

g
3 | '?a b g
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- — s |
24 A&l ss dad ay JJM‘ J,-,\-é JAISﬂ\ PJ@.&A LA; dﬂ‘ (45'49) P330

¢ 5(0) =3 SN sy v(E) =3 — 128 & dgaial) el Ao ils 13 s(F) Aailsal) Dl 23a 45

Determine the position function if the velocity function is, v(t) = 3 — 12t and the initial position is s(0) = 3.?

¢ 5(0)=0 Sy adsadly p(t) =3t —2 A Agaiadl de yud) Ao cils 1) g(f) Al A 23 46

Determine the position-function if the velocity function is v(t) = 3e~* — 2 and theinitial position.is s(0) =.0.?

v(0) = 0 & 4ay dgaidl de pudly a(t) = 3sint + 1 A £kl D il 1)) g(8) Adladl Al 238 47
¢ 5(0) =4 s AN sl

Determine the position function if the acceleration function is a(t) = 3sint + 1, the initial velocity is v(0) = 0
and the initial position is s(0) =4 ?

v(0) =4 A LN dgaiall depudly a(t) = 2 + 1 A ol Al cuils 1Y) g(f) Ailall A 23 48
¢ 5(0) =0 s AN a8sallg
Determine the position function if the acceleration function is a(t) = t? + 1, the initial velocity is v(0) = 4
and the initial position is s(0) =0 ?
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¢y =fx) —pasa Gl Jhall gilila f(x) G Al Jhal i 49

(IS JBN) 18 f Asliiy) 5,U) ages (e 12 ft Sy 6 ft Adsh iyl Ladd ( g2 e 19

O8 Taia paddl) 3B Jgh 4y iy A Janall & L ¢ 2 ft/s  Jimay 3 UY) agae o8 aaly paddl) S 13 (A
xX+s s of .
== ) Al rald ) ¢ )
(5 =2 o) DB 1Al ) S gand

¢ 3 ft/s S agall i e b Y ages (8 6 fE b pedd ge Alaall 48 (B

Suppose a 6-ft-tall person is 12 ft away from an 18-ft-tall lamppost (see the figure). (A) If the person is moving

away from'the lamppost at a'rate of 2 ft/s, at what rate is the length of the 'shadow changing?
xX+s

; -5
(Hint: Show that TR )

(B) Repeat with the person 6 ft away from the lamppost and walking toward the lamppost at a rate of 3 ft/s?

—

Exercise 19

X C T ERT T T 1
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S =g oo : 3 I
B =TI ) A Z-) 3 :
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-----——-l
JI ) aladl) zil
25 dagi jal) el o dgiba g dpdalyy Jilewa Ja (19-26) P304
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i gacyglilana a Vg illbia g P Glduac PV =c s &l5 0 dau A Sl Big 00636 .20

ﬁ t @ . @ . i
¢ %: i 1ol (A s dlst (b W5 P 0a g8 8 pab e i
(8) 3 (A) xsal oo T 5 P(V) 0w 0lh . P(V) coald cfiss e Vi 01 1 il Uiss P 152 2 (B
Boyle’s law for a gas at constant temperature is PV = c, where P is pressure, V is volume and ¢ isa
constant. Assume that both P and V are functions of time. (A) Show that % = - % ?

(B) Solve for P as a function of V . Treating V as an independent variable, compute P(V) . Compare P(V)
and % from parts (A) and (B)?

Jiray S ey Matia S i agal) Ala o i i) gl o obal) qupda (8 6 fE ile Gasa adi 121

Ch 20 ft B Ladie (agal) Ga GS el il B) A ju b Lad sliall g i Ao JIGY QS el Gl 2 fE/s <l

AU ol S pal) A8 o (1985 ) updesal) (e adl SR e 10 fE Suasal)

Aldock is 6 feet:above water.'Suppose you'stand on the edge of the dock and pull airope attached to'a’boat at the constant

rate of 2 ft/s. Assume that the boat remains at water level. At what speed is the boat approaching the dock when it is 20
feet from the dock? 10 feet from the dock? Isn’t it surprising that the boat’s speed is not constant?
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Wi Jmald  5m3/s @l Jaray Jall sl 1) Wkl Jalay Lge W ) g JS& dud g jda dasS (B Jall Sdy 122
St ELYI (0 9Sy Ladie da oSl £
Sand is poured into a conical pile with the height of the pile equalling the diameter of the pile. If the sand is poured
at a constant rate of 5m3/s , at what rate is the height of the pile increasing when the height is 2 meters?

incoming
sand

conical
pile

sl p ABAS | g Ay ady B T 5 sy (aacd () Akl g Al any g 31) Jad) sl 515580 235 b .23
1

JHA (L S AiSad ¢ f=z\/§ S8l o dxpal sl Cijle Ly sai die Alaall J9A G sl p Jlal) Jskllg

@ . . T 1 @ x . " N . “e e

@R f Glhag gl dlg . \/; =220ft/s s L=;ft O W28 e drualy Jial) hdia G Adlal) s
Gl oa Lad Jaall 1dgag (1) 8¢ L(t) = —4 Casal a lall djle b cll 3 1), (48 35 g) Jisgd

S (f cima s ) Iaal g Sl Cguall A pd ) (5 i)

The frequency at which a guitar string vibrates (which determines the pitch of the note we hear) is related to the tension 7

to which the string is tightened, the density p of the string and the effective length L of the string by the equation f =

1

L ’—T) . By running his finger along a string, a guitarist can change L by changing the distance between the bridge and his

finger. Suppose that L = % ft and \/% = 220 ft/s that the units of f are Hertz (cycles per second). If the
guitarist’s hand slides so that L(t) = —4 ,find f(t) At this rate,

how long will it take to raise the pitch one octave (that is, double f )?
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V=§1rr3 — ok chuaig dana i b (5 98 JS& B Gl (B 1Y) L 1 fE3 /s Jaa o) sl Uil Sl il b e 24
By dld bl ) Al sk (IBUS € = 0,1 b GsS beie Jilbe o L =0, 0L fE0sSs Ladis o sk Chual 185 Jara 8

Suppose that you are blowing up a balloon by adding air at the rate of 1 ft3/s . If the balloon £yl Shay éﬂ‘ i)

3

maintains a spherical shape, the volume and radius are related by V = gnr . Compare the rate at

which the radius is changing when 7 = 0.01 ft versus when r = 0.1 ft ? Discuss how this matches
the experience of a person blowing up a balloon?

. 10 ft3/s @il Jmay 60 ft okl ciual 598 OIJA ) sl iua 25
fehualll ) O AN Aia Latie GIJAN A sliall (g glia Ao sl ciual juad Jaa 22 (A
?o#u&ddmw&g\jﬁsgaw\@ﬁéﬂigmﬂ\Ag(B
Water is being pumped into a spherical tank of radius 60 feet at the constant rate of 10 ft3/s .
(A) Find the rate at which the radius of the top level of water in the tank changes when the tank is half full?

(B) Find the height at which the height of the water in the tank changes at the same rate as the radius?
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ook ciual e (g glesy By Ak g A dags JRE 5 Ja ) £ 8 .26
¢ 6 ft N EWN Sy lavic il Chalidy i (s0F Jaall aad 20 F£3 /s <l Jaray Ja ) A1) (A

Y (s gianall b 45" Ll L) 5 Sl a g8 JET Lasi Alaal) S (B

Sand is dumped such that the shape of the sandpile réemains a'cone with height equal to twice the radius.

(A) If the sand is dumped at the constant rate of 20 ft3/s |, find the rate at which the radius is increasing
when the height reaches 6 feet?

(B) Repeat for a sandpile for which the edge of the sandpile forms an angle of 45" with the horizontal?

I ) gl H
26+27 Bonus 4aladl) Aadl) ya il Undisclosed

sl o gid (ai ) Alind o el juaaill
L)l s o i ((14) dadia (1) JVisw Jla o gl (1a dbthiall (5 guall) aibl) sl A& (3444+5) ual) dajla 2 58 1
(27) 4ada (6) JIsw din f(x), f(x), F(X) oSy O cillaady) Jaliig adil) g dulaall (g gualil) 4l a8l a9 aBlisl) g

dadg il alie dad §hay oA ZUIY) (o g — A3ladl) Al — Lpaad) AT o g 3l eims (4-9) Cuudl dajla 4l 3 2
allal) &5 g pa g ARISHY o glal (5 _jua

L(5-1) dajla (A 33 g2 gall (el g Al ) gal) (u gSaa g AlEAL) ) gal) Jals3 3
.(5-3) Aajle A g oY) £ ganall sla) g ciliiaiall cias ABSA Aalual) Sy Ailgdll g (lay ) £ e alidiad o cupail) 4

alay) A ¢(5-5) 4ajla (3) dadua (6) Iy Jia gt g Jalsil g Jualdill dpaalal) 4100 ¢a AN g oY) 5 5o o @il 5
ALl J1gall Adaall (5 guall) asll) g Gulaall Adalaa

sl o ol dadia B 539 gall g dnia e JLEAY) ALiai o Dla g Aaldl) g Aol S iaa gl Aalad) daa) sall 2Bl e 5853 L6
A el o el (3 sillg
gl
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